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1. Complete this table of values for the relation v = 3x -5 for the following table. Show work

x| 1]2|3]4 x| X= & x="3

y =2/ 1 |4]7 y: 3x -5 N =3xS ¥y=3x-5
=3()-% =3()-S)  =3¢)-S
=3 -5 =6 -5 =7 —s

-2 | ;1
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2) Complete this table of values for the relation v = -2x + 7 for x =-3 to +3. Make a table and show
work

¢ B i Y N W e T S - O B
K= "3 x=-1 xz= =

Y= -2x+7 Y= -2x +71 Y= -2xt+1

Yz -2+ = "2+ = -2€N+*7
= G +1 = 4 +0 — 2 %)

13 I ?
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3) a)The ordered pair (7, ) is in the linear relation with equation v = - 9x — 2. Find the missing
number i the ordered pair. (Show work)

6
3

v G\
(7,60



gr 8 u6 eq review TEST REVIEW SOLUTIONS WS.notebook October 10, 2023

b) The ordered pair (-11, ) 1s in the linear relation with equation v = - 9x — 2. Find the missing
number in the ordered pair. (Show work)

\3= -qQx-2_
Yy=-9CN -2
Calial

("“) ?7>
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c) The ordered pair (___, —i 1s in the linear relation with equation y = - 9x — 2. Find the
missing number in the ordered pair. (Show work)

Yy=-x- ya
~209= -Ux -2
T +
—ZOOl = -Ax-2

=201 = ~9x

(23 @

1~ 209)
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1.The snowboard club is planning a trip to a local hill. A bus company will charge them
using the formula C= 30 + 40n, where C 1s the total cost for n people.

a) Create a table of values for the relation.
Use these values of »- 10, 20, 30, 40_ 50, 60, 70
Show work here: qd)
" C ? ha
n=10 n=20 n=30 10 |4s0 Du
C:=50+400]| Q=S50+ 4D0n C =50+40n 20 (%50
-50+40(°] =50+40@9 =50+4069 30 (1950
=50 + 400 =50+ %02l  —5p+ 1200 40 |1pSD
= Y4oo - 50 B 50 205
L = 1250 60 |4 SP
70 RESH
b) Use grid paper. (On provided graph paper) S kl Trl p
G
qOoT ™ .
qesd .
Costin $ ¢ 1
Ly%0 .
R 1Y} o
W50 .
(.50 .
Iwso .
<50 o
‘450 ‘ L)
NC AR AR A A b
Number of people
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¢) Describe the relationship between the variables in the graph. (What happens to n and C

=% Rs the number of people increase by 10, the

cost increases by $400.

d) A parent group is willing to give the club $410? How many people could go on the trip
(Show work)

‘-ll%:ssc:;;;%:\ Q Peoele can
50 1 0 on *We
H10°= So+ 40a Frip Sor PO,
3060 = 40,
360 = 4On

%o Y0

ﬂ.-.'



gr 8 u6 eq review TEST REVIEW SOLUTIONS WS.notebook October 10, 2023

¢) When drawing the graph can you connect the dots? Why or why not?

No youA Cannotr Coaneet Yhe dois
S%ﬂchYou connot hove healf a person

A® on Yhe yrie.

2) If you have a question dealing with negative values for money, what does that mean
for the person? (What does negative money mean?)

= Neaodive Mmoney Mmeans You
10 Semoney ;) jadabt or  Owe money,
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